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package org.learningconcurrency
import scala.concurrent._
import scala.concurrent.stm._

import ExecutionContext.Implicits.global
import scala.annotation.tailrec

object
case

NodeTrans2 extends App {
class Node(elem: Int, next: Ref[Node]) {
def append(n: Node): Unit = atomic {
implicit txn =>
val oldNext = next()
next() =n
n.next() =
}
def nextNode:
}
def nodeToString(n: Node): String = atomic {
implicit txn =>

oldNext

Node = next.single()
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val b = new StringBuilder
var curr = n
while(curr != null) {

b ++= s"${curr.elem}, "

curr = curr.next()

}
b.toString
}
class TSortedList {
val head = Ref[Node] (null)

override def toString: String = atomic {
implicit txn =>
val h = head()
nodeToString(h)
}
def insert(x: Int): this.type = atomic {

implicit txn =>
@tailrec def insert(n: Node): Unit = {
if(n.next() == null || n.next().elem > x)
n.append(new Node(x, Ref(null)))
else insert(n.next())
}
if (head() == null || head().elem > x)
head() = new Node(x, Ref(head()))
else insert(head())
this
}
}
val sortedList =
val f = Future {
sortedList.insert(1); sortedList.insert(4) 7}
val g = Future {
sortedList.insert(2); sortedList.insert(3) }

new TSortedList

for(_ <- f; _ <- g) log(s"sorted list - $sortedList")
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def insert(x: Int): this.type = atomic { O & ZIE%DY 2 N ZAFFESEIER ¥ 2 — 155 L L
implicit txn => Fr¥a
@tailrec def insert(n: Node): Unit = { =
if(n.next() == null || n.next().elem > x)

n.append(new Node(x, Ref(null))) o WOTY head D& ZAILEUNERD DD

else insert(n.next())
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if (head() == null || head().elem > x) pop ZiENT %
head() = new Node(x, Ref(head()))
else insert(head()) def pop(xs: TSortedList, n: Int): Unit = atomic {
this implicit txn =>
T var left = n
} while(left > 0) {
xs.head() = xs.head() .next()
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) Future { pop(lst, 2) } foreach {
Qtailrec case _ => log(s"removed 2 elements, list = $1lst")
final def insert(n: Node, x: Int) }
(implicit txn: InTxn):Unit = {
if(n.next() == null || n.next().elem > x)
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n. append (new Node(x, Ref(null))) O HH 9 &/ 5458 NullPointerException
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_ N Future { pop(lst, 3) } onComplete {
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Q@tailrec
final def insert(n: Node, x: INt):Unit = atomic {
. . Future {
implict txn => tomic { implicit t =
if(n.next() == null || n.next().elem > x) a omlil t1m§)1c1 xn
n.append(new Node(x, Ref(null))) popi-st, ¢y
else insert(n.next(), x) ) 8ys.error
¥ } onComplete {
_ . case Failute(t) => log("$t, $1st")
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val sortedList = new TSortedList
val f = Future {
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sortedList.insert(1); sortedList.insert(4) 1} H>3
val g = Future {
sortedList.insert(2); sortedList.insert(3) } e ScalaSTM TlI K EDHIMN Tlx rollback § 2 H3---

for(_ <- f; _ <- g) log(s" ted list - $§ tedList") N
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o MifTMEIZH F VDI NTINATT — ZKEEDMENS atomic { implicit txn =>
for(n <- List(1, 2, 3)) {

O bhr1o: FMPEEES? WIZHES pop(lst, n)
break



}
}
}
log(s"after remove - $lst")

}
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import scala.util.control._
Future {
breakable {
atomic.withControlFlowRecognizer {
case c: ControlThrowable => false
} { implicit txn =>
for(n <- List(1, 2, 3)) {
pop(lst, n)
break
}
}
}
log(s"after remove - $1st")

}
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val 1lst = new TSortedList
1lst.insert(4).insert(9).insert(1).insert(16)
atomic { implicit txn =>
pop(lst, 2)
log(s"1lst = $lst")
try { pop(1lst, 3) }
cat { case e: Exception => log(s"$e") }
pop(lst, 1)
}
log(s"result - $1st")
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